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#-2: Complele each table of information.

1) | Table of values: Factored (intercept) form of Solutions for the equation:
EzEen] {14 I3 R T
x =1|0] 1] 2|3
"‘# K=+5 %=2
Graph: * N x-intercept(s): Verify the solution(s):
} T (-=2,0) chatk x=45
<
(s,0) 0 =(s-5)5%3)
v
X-5=0 0=0
e -5 chave %=-3
xX=5 D = (-2-5X-3+3)
X+23=Q o- ov
X=-3
2) | Table of values: Factored (intercept) form of Solutions for the equation:
the equation: 0=(x-1)(x-5)
s 3= (-1)(-3)
Graph: x-intercept(s): Verify the solution(s):
y

3) Write two or more conjectures about the relationship of the information in the charts above.



#4 - 7: Write each equation in factored form and,

equation, check your answers, and then match each equation with the graphs pictured

use it to find the x-intercepts for each g uadmb
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¥ Check your answer (s):
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5.2

I can solve quadratic
equations by factoring
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I can solve quadratic 5.2E
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Name Period
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#1 - 3: Solve for x.

L (x=4)(g+9)=0 2 (122)(3s=6)=0 (4ask3)(26=5) =0 -£30
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4. 4x2-36=0 5. ss-‘b—it 6. aloorsqQ

(.‘l..q).o 3&(7‘\,% =0

5*4.: =2 e} - x-%=°

R*r2z0 -2=0
S e
¥ Verify your solution(s): : Vz"“)"‘:“s"lmm(s] OJVE% Curshslm ﬁ Q°> OV
5(2) 20=0v >(33-7(3)=0"

7. 7xi-28x=0 8 2+8x-9=0 9. Z47c+12=0

¥Verify your solution(s): ¥ Verify your solution(s): + Verify your solution(s):
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